F 658 ki3 EEREOHIL

ROFGFNDF LD 5 BFERD K, (n=1, 2, 3, )
ar =az =1, anp+2 =5an+1 —6an
a =1, az=1, a3 =5bas —6a; =-1, a4 =bas —6az =-11,
as =bas —6as =-49
TEBRE DR 3 BRI OMLXL, Hr7clciE Le B Ot X EF IR & 7
&AL 2T %, DED, PHDIEHTH % 5ana D—HNZ ane & By F 2
JL, RO Za, b Ry F 755 LEZT, HEOXE
An+2 = Pans1 = o (An1 — Pan)

LB THB, —fMRANICIE, RD Point 11 DX SIS,

Point 11

a1=a, A2=0, Gni2+ Pani1+qan =0 (p>-4q=0) TEDHSNT=EF
An+2 = Bans1 = (ani1 — Pan) ZHEORE L, by =ana —Pan EHBL L,
br+1 = aby
CNEKY, B by} I EHHEb = a2 - far, Rita OFLHEGIER S,
mE, BEORZEMTS & ane —(a+B)ana +afa, =0 £72D, & & Djilli
bR RTS8, a+B=-p, af=qgDD, o, BDHEINKE S,
EHIC, 2 XXM AR DOBFRZRIHT 5 &, o, pl
x*+px+q=0
D2DODRFTHD, D=p*-4q20D L Tida+p &7%%%,

) Wit=X% anie = —pana —qan OEZEL, ani=1-ana +0-ap- @Ln
#7 &9 %, Point 10 EARICE AT, AEZEOEEZO—-@OXEND,
An+2 _kan+1 EX (an+1 _ kan) ......... @

9%, 5L, @ld Point 11 DHIERD g2 R ICEAT2UTFHE LU,
X 51, D@EFIEMNTET L, (a"”]:(‘p ‘ﬂ(“ﬂ“)amo o

an+1 1 O an,

vz ﬁﬁu(‘lp ‘Oqj@ﬁm%ﬁc;c, X2 (p10)x+(04q)=0Mb,

x2+px+q=0
THY, ZOMRa FEHMEICHIGT 2,
DX oI, Bt 3 HER O b2 # it N BEE S TR 2 &8 TE %,
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PIE1N ROBINDO—fRIAZRD K, (n=1, 2, 3, -+ )
a1 =az =1, apiz =50, —6an
2 R x® =bx -6, x* -5x+6=0DflE, x=2, 3XD,
An+2 = 3An+1 = 2(ans1 —3an)
by = ani1 —3an EBLE, bui1 =20, D5, by =by -2"!
Qni1 —3an =(az —3a1)2" 1 =-2.2"7F = Q"o @
K72, ansz —2ana = 3(an —2a,) ELE LT,
Cn=Qni1 — 20, EBL L, i1 =3 DD, cp=c1-3""
Gni1—2an =(ag —2a1)3" =3 1eeennn @
@—-0&b, a,=-3""+2"

GF) O%Z ans =3a, —2" @ELZE L, Point 7 E[RIFRICL TS T & & TZX %,

&Iz 1 DDOBINZ ap =a-2" B,

@IRALT, a-2""=3a-2"-2" &V, 20 =30-1

95, a=1L7%0,
gn+l _g.gn L on......... @

@—@EKD, an-2"" =3(a,-2")

by =an —2" £ L by =3b, 750, BB {b, } I 3 DFFLEFNZ DT,
b, = b .gn-1 —(a _21)37%1 —_gnl

L7eho T, an=0b, +2" =-3""1+2"

FEN KOEGIO—MWAERD K, (n=1, 2, 3, )

air =az =1, ap2 =5an+1 +6a,
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ROBHNIDETCDHD 5 HERD Ko (n=1, 2, 3, )
a1 =1, a2 =4, an+2 =4ana —4an
iR 25 ar =1, az =4, as=4a2: —4a1 =12, a4 =4as —4as =32,
as =4a4 —4a3 =80
Point 11 &[FEIBRIC LT, #iHLXZ anve — Bana = a(ana — Pan) EEETHT &
WEZ D, TDIWD, 2 KT =dx -4 T bbb x%—4x+4=0 D%t HET
%, §B&, Effx=272EDT N5, a=p=2TdH%,

Point 12

a1 =a, Az =a’, Gniz+Pan+qa, =0 (p>—-4q=0) TTEHSNIET
QTR %% + px+qg=0Dfifl, D=p*-49g=0D L THEMRTHY, ThZ*

x=a B, HHtRIE, ane —aan =a(anm —aa,) EEETE,

ni —aan =(az —aar) " T2 B  apu =aa. +(az —aa) o™

9% &, Point 8 E[AIKEIC UL T—iIEHZ KD B EMNTE %,

BE 12 ROBIND—RIEAZRD K, (n=1, 2, 3, - )
a1 =1, az =4, an2 =4an1 —4a,
2GRN % =dx -4, x2-4x+4=0DfRIX, x=2XD,
Gn+2 = 20an41 = 2(An+1 —20n)
by = ani1 —2an EBLE, bpa =20, 05, b, =b - 2"
Gni1 —2an =(as —2a1) 2"t =2.2"71 = 9"
EoT, ana =2a, +2"H 5, W% 2" THE|B L&,
ny _ 200y 27 gjppt, Gna_On 1

2n+1 2n+1 2n+1 2n+1 2n 2
Cn :;—Z LB E, e :cn+%c‘:730,

or=a+(n-1) L= 8 Lnon)=Ln

Eo7T, an=c,-2" :%n-2” =n-2"!

FE12 XOBHO—IHERD K, (n=1, 2, 3, - )

a1 =1, az =2, ap+2 =—-6an:1 —9an
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658 RiE3ERAREOE(LN (I

wE 11
Qni2 =DAns1 +6an @L:—jﬂ_bf, x2=5x+6, x2—5x—6:O, x=6, -1

®J: D , Qns2 —6ap41 = _(an+1 _GGn)

Qna —6an =(as —6a1)(=1)"1 ==5.(=1)" Lo @
DXD, aniz +ana =6(ana +an)

i +an =(ag +a1) 6" =2.6" 1o ©
®—@&D, Tay =2:6"1 +5:(-1)", @y =2.6"1 +2(-1)"!

wE 12
Aniz = —6ani —9an (KNS LT, x* =-6x-9, x> +6x+9=0, x=-3
CK)YKD, anz +3ana =-3(ana +3an)
Ana +3an =(az +3a1)(-3)"" =5-(-3)""

3L, any =-3a, +5-(-3)"1, —dnu - an 5
(=3)™ (=3)" 9
an a5 5n—8
(-3)" (=3)' 9 9

E-T, an =%(—3)” — (5n—8)(-3)"?
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